
MATHS

BOOKS - KC SINHA ENGLISH

QUADRATIC EQUATIONS - FOR BOARDS

Solved Examples

1. Solve the following equation by fasctorization

method: 

Watch Video Solution

9x2 + 16 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_J9G1CObcytJo


2. Solve the equation 

factorization method,

Watch Video Solution

x2 + 2x + 10 = 0

3. Let the function 
 , defined as

be continuous at 
 If 
 are roots of

a
 quadratic equation then equation is




f(x)

f(x) = {3ax + b, x > 111, x = 15ax − 2b, x < 1

x = 1. aandb

x2 − 5x + 6 = 0 x2 − 5x + 6 = 0

https://dl.doubtnut.com/l/_J9G1CObcytJo
https://dl.doubtnut.com/l/_yo52LhvRK2LD
https://dl.doubtnut.com/l/_7pRDvPlvPXxi





Watch Video Solution

x2 + 5x + 6 = 0 3x2 − 5x + 2 = 0

2x2 − 5x + 3 = 0

4. Solve the following equation by using the

general expressions for roots of as quadratic

equation: 

Watch Video Solution

x2 − 14x + 58 = 0

https://dl.doubtnut.com/l/_7pRDvPlvPXxi
https://dl.doubtnut.com/l/_M8r1tz40IOrp


5. Solve the following equations by

factorization method: 

Watch Video Solution

x2 − ix + 6 = 0

6. Solve the following equations by

factorization method:

Watch Video Solution

x2 + 8ix − 16 = 0

https://dl.doubtnut.com/l/_OMRJOW0FB3ei
https://dl.doubtnut.com/l/_zLCNFNgYCZfk


7. Solve the following equation by factorization

method: 

Watch Video Solution

 x2(3√2 + 2i)x + 6√2i = 0

8. Solve the equation  using

the general expression for a quadratic

equation.

Watch Video Solution

2x2 + 3ix + 2 = 0

https://dl.doubtnut.com/l/_qdtps2XwpZWk
https://dl.doubtnut.com/l/_GIQ0V0edZFi5


Exercise

9. Solve the Equation

 using the

general epression for a quadratic equation.

Watch Video Solution

x2 + (√3 − 2√2i)x − 2√6i = 0

1. Solve the equation by factorizatiion method:

Watch Video Solution

2x2 + 3 = 0

https://dl.doubtnut.com/l/_osJvzbSipsCb
https://dl.doubtnut.com/l/_ZnIciUA2hnl1


2. Solve the following quadratic equation by

factorization method only: 

Watch Video Solution

x2 + x + 1 = 0

3. Solve the following quadratic equation by

factorization method only: 

Watch Video Solution

 x2 + 2x + 5 = 0

https://dl.doubtnut.com/l/_ZnIciUA2hnl1
https://dl.doubtnut.com/l/_1Wd3uDc3pnKl
https://dl.doubtnut.com/l/_UHXxq3phiKLy


4. Solve the equation by factorizatiion method:

Watch Video Solution

x2 − 4x + 7 = 0

5. Solve the equation by factorizatiion method:

Watch Video Solution

x2 − 4x + 13 = 0

https://dl.doubtnut.com/l/_CZgyX4qQFOrF
https://dl.doubtnut.com/l/_BUz9bnwcAAML


6. Solve the equation 
 by

factorization method only.

Watch Video Solution

9x2 − 12x + 20 = 0

7. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

2x2 − √3x + 1 = 0

https://dl.doubtnut.com/l/_4Ed3Mw04ChlP
https://dl.doubtnut.com/l/_eSeSKSSKXCDY


8. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 − 8x + 1 = 0

9. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

5x2 − 6x + 2 = 0

https://dl.doubtnut.com/l/_unfsjlf7HQ7K
https://dl.doubtnut.com/l/_PAe1T3JSM0Ah
https://dl.doubtnut.com/l/_cCV3fSsOkm0g


10. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

3x2 − 7x + 5 = 0

11. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

8x2 − 9x + 3 = 0

https://dl.doubtnut.com/l/_cCV3fSsOkm0g
https://dl.doubtnut.com/l/_KqNr3OHMfEEA


12. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

9x2 + 4 = 0

13. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 − x + 1 = 0

https://dl.doubtnut.com/l/_oW4C57eOVTPJ
https://dl.doubtnut.com/l/_i0HJrHgtLMaW
https://dl.doubtnut.com/l/_XGQUn7hIi651


14. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 − 4x + 7 = 0

15. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

27x2 + 10x + 1 = 0

https://dl.doubtnut.com/l/_XGQUn7hIi651
https://dl.doubtnut.com/l/_NS7Cp3u2mohI


16. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + 2x + 2 = 0

17. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_Cpy91vNV5uZ6
https://dl.doubtnut.com/l/_GREtQqjqdaqx
https://dl.doubtnut.com/l/_Y43UsHdjWNIy


18. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + 3x + 9 = 0

19. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + 3 = 0

https://dl.doubtnut.com/l/_Y43UsHdjWNIy
https://dl.doubtnut.com/l/_H9hC3qz6mkn6


20. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + 3x + 5 = 0

21. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

27x2 + 10x + 1 = 0

https://dl.doubtnut.com/l/_D1ArG7LJeyFU
https://dl.doubtnut.com/l/_V2DFFeF7eIv3
https://dl.doubtnut.com/l/_NFUeQYQATWtK


22. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 − x + 1 = 0

23. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + 2 = 0

https://dl.doubtnut.com/l/_NFUeQYQATWtK
https://dl.doubtnut.com/l/_ZiMAeGLuEGlU


24. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

21x2 − 28x + 10 = 0

25. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + x + 2 = 0

https://dl.doubtnut.com/l/_5FDFEijx02CN
https://dl.doubtnut.com/l/_bFwVbWv0AJMb
https://dl.doubtnut.com/l/_vGIF7IwpTOab


26. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

−x2 + x − 2 = 0

27. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 − 2x + = 0
3

2

https://dl.doubtnut.com/l/_vGIF7IwpTOab
https://dl.doubtnut.com/l/_83yBUx5Vju9g


28. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + + 1 = 0
x

√2

29. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

3x2 − 4x + = 0
20

3

https://dl.doubtnut.com/l/_fgYZ4USxPClN
https://dl.doubtnut.com/l/_pLaGufVod548
https://dl.doubtnut.com/l/_2A7tebXmAyTT


30. Solve the equation by using the general

expression for roots of a quadratic equation:

Watch Video Solution

x2 + x + = 0
1

√2

31. Solve 
.

Watch Video Solution

√5x2 + x + √5 = 0

32. Solve the equation:

√3x2 − √2x + 3√3 = 0

https://dl.doubtnut.com/l/_2A7tebXmAyTT
https://dl.doubtnut.com/l/_WEdsDQ0p5igc
https://dl.doubtnut.com/l/_3iUQkCCSoUEr


Watch Video Solution

33. Solve the following equations by

factorization method: 

Watch Video Solution

x2 − 5ix − 6 = 0

34. Solve the following equation by

factorization
method: 

Watch Video Solution

3x2 + 7ix + 6 = 0

https://dl.doubtnut.com/l/_3iUQkCCSoUEr
https://dl.doubtnut.com/l/_V3L893eE7aOA
https://dl.doubtnut.com/l/_X8750vVM4uWT
https://dl.doubtnut.com/l/_AY7bI5dsWJgQ


35. Solve the following quadratic equation by

factorization method:

Watch Video Solution

  x2 + (1 − 2i)x − 2i = 0

36. Solve the following quadratic equation by

factorization method:

Watch Video Solution

  x2 − (2√3 + 3i)x + 6√3i = 0

https://dl.doubtnut.com/l/_AY7bI5dsWJgQ
https://dl.doubtnut.com/l/_g96QsR1FXY5W


37. Solve the following equations by using the

general expression for a quadratic equation:

Watch Video Solution

x2 + 4ix − 4 = 0

38. Solve the following quadratic equations
 by

using he general expressions for the roots of a

quadratic equation:

Watch Video Solution

x2 − (3√2 − 2i)x − 6√2i = 0

2x2 + 3ix + 2 = 0

https://dl.doubtnut.com/l/_7nFBDZdx5CkP
https://dl.doubtnut.com/l/_3uwshIBwKcS8


Watch Video Solution

39. Solve the following quadratic equation:

Watch Video Solution

 x2 − (5 − i)x + (18 + i) = 0

40. Solve the following equations by using the

general expression for a quadratic equation:

Watch Video Solution

x2 − (7 − i)x + (18 − i) = 0

https://dl.doubtnut.com/l/_3uwshIBwKcS8
https://dl.doubtnut.com/l/_uWrmkiGKrSLl
https://dl.doubtnut.com/l/_6ijq11tCrV20
https://dl.doubtnut.com/l/_YcMYW3UnCmPC


41. Solve the following quadratic equation:

Watch Video Solution

 ix2 − 4x − 4i = 0

42. Solve the following equations by using the

general expression for a quadratic equation:

Watch Video Solution

x2 − 7ix − 12 = 0

https://dl.doubtnut.com/l/_YcMYW3UnCmPC
https://dl.doubtnut.com/l/_biD6jNSyruZF

